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95 5 %

100.0 100.0 100.0 

94 93.9 90.4 96.3 

94 6.1 9.6 3.7 

100.0 100.0 100.0
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95 5
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6.1 7.8 4.9 
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4 15

Odds Ratio   Pr > ChiSq    

1. -46.6183 <0.0001

2. 1.2431 3.466 <0.0001 1 0

3. -0.4633 0.629 <0.0001

4.ln 17.7553 >999.999 <0.0001

5. 0.4555 1.577 <0.0001 1 0

6.

1 0.1408 1.151 <0.0001

2 0.5331 1.704 <0.0001

3 0.3689 1.446 <0.0001

7. 0.0539 1.055 <0.0001

8. 0.2562 1.292 <0.0001 a

9. 0.0126 1.013 <0.0001

10. 0.0345 1.035 <0.0001

11. 10 -0.0279 0.972 0.0029 b

12. 0.0382 1.039 0.0160 95 1 93 0

1. 1 0

2. 93 95 5

3. 116,972

4.

Likelihood Ratio = 55256.7336 , d.f. = 13 , p-value < 0.0001

Score = 43946.7813 , d.f. = 13 , p-value < 0.0001

Wald = 27720.9782 , d.f. = 13 , p-value < 0.0001

a 1 0

b 93 95
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exp 0.0382 1.039

93 94 5

95 96 5

Y

93 95

94 96
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5

0.2113

exp 0.2113 1. 235
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Odds Ratio Pr > ChiSq

1. -26.2566 <0.0001

2. -0.2832 0.753 <0.0001

3.ln 9.8123 >999.999 <0.0001

4. -0.4980 0.608 <0.0001 1 0

5. 0.0633 1.065 <0.0001

6. -0.1401 0.869 <0.0001 a

7. 0.0182 1.018 <0.0001

8. 0.0953 1.100 <0.0001

9. 0.2113 1.235 <0.0001 b

1. 1 0

2. 93 94 95 96 5

3. 24,008

4.

Likelihood Ratio = 1953.1805 , d.f. = 8 , p-value < 0.0001

Score = 1471.5756 , d.f. = 8 , p-value < 0.0001

Wald = 1198.1920 , d.f. = 8 , p-value < 0.0001

5 15

a

b 93 95 1

0



1. Logistic

2.

3.

95

4.

67

No.629 2008.5


